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:LFKWLJH�+LQZHLVH 
'LHVHV�'RNXPHQW�GLHQW�DXVVFKOLH¡OLFK�ΖQIRUPDWLRQV]ZHFNHQ��LVW�QLFKW�DOV�$QJHERW��(PSIHKOXQJ�
RGHU�$X΍RUGHUXQJ�]XU�$QERWVVWHOOXQJ�E]Z��]XP�.DXI�RGHU�9HUNDXI�YRQ�)LQDQ]LQVWUXPHQWHQ�]X�
VHKHQ�XQG�HUVHW]W�QLFKW�GLH�IDFKJHUHFKWH�%HUDWXQJ��3HUIRUPDQFHHUJHEQLVVH�GHU�9HUJDQJHQKHLW�
ODVVHQ�NHLQH�5¾FNVFKO¾VVH�DXI�GLH�]XN¾QIWLJH�(QWZLFNOXQJ�HLQHV�3URGXNWHV�]X��'LH�VWHXHUOLFKH�
%HKDQGOXQJ�LVW�YRQ�GHQ�SHUV¸QOLFKHQ�9HUK¦OWQLVVHQ�GHV�MHZHLOLJHQ�.XQGHQ�DEK¦QJLJ�XQG�NDQQ�
GXUFK�GLH�VWHXHUOLFKH�%HXUWHLOXQJ�GXUFK�GLH�)LQDQ]YHUZDOWXQJ�XQG�5HFKWVSUHFKXQJ�N¾QIWLJHQ��Q�
GHUXQJHQ��DXFK�U¾FNZLUNHQG��XQWHUZRUIHQ�VHLQ��-HGH�)RUP�GHV�*HEUDXFKHV�GLHVHV�'RNXPHQWHV��
LQVEHVRQGHUH�GLH�9HUEUHLWXQJ��9HU¸΍HQWOLFKXQJ�XQG�5HSURGXNWLRQ�LVW�DXVGU¾FNOLFK�XQWHUVDJW�� 
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VRZLH�YHUO¦VVOLFKHU�4XHOOHQ�NHLQH�+DIWXQJ�¾EHUQRPPHQ�ZHUGHQ� 
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